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A = {x ∈ R : x = 5n−1
2n−1 , n ∈ N}
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A = {x ∈ R : x = 2n−1

n
, n ∈ N}
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E = {x ∈ R : x = 2n−1
n

, n ∈ N}
¡  

E = {x ∈ [ 12 , 2
3 ] : x = m

2n
, n,m ∈ N}

V  
E = {x ∈ R : x = 3n−2

2n
, n ∈ N}

¢  
E = {x ∈ R : x = (−1)n

n
, n ∈ N}
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A = {an ∈ R : an = (−1)n n

n+3 , n ∈ N}|/g1w�g1a�s�uvrEe-a�gf�)~�p/��¨��JuvrJ�b¨��
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∅ 6= X, Y
�
Y ⊆

X ⊆ R
�J~�u�jEe

inf X ≤ inf Y ≤ supY ≤ supX.
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∅ 6= X, Y
�q~�g

X + Y := {x + y, x ∈ X, y ∈ Y },
~�u�jEeJ�

sup(X + Y ) = supX + supY
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X ∈ R, X 6= ∅

gi~�u�e
tX := {tx : x ∈ X, t ∈ R+},

e-}v}{c�a�e�~�u
jEe

sup(tX) = t supX
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X ∈ R
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⇐⇒
g�~�u{~�w�g�p/r
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M > 0

w�e-}{gmh�jkg
|x| < M, ∀x ∈ X
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